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1/

Max Z = 10x; + 2x, +
12x3 + 4x,.

8x, + 8x, + 8x3 + 2x, < 88.

l16x; + 12x, + 8x3 + 6x, <
72.

X1,X2,X3,X4 = 0.
2/

Max Z = 6x1 + 10x, + 3x3
5x1 + 3x, +4x3 < 15
4x; + 8x, + 12x3; < 16
2x1 +2x, +8x3 <8
X1,X2,%x3 =0
3/

Max Z = 4x, + 5x,
x1 + x5, = 80
3x1 + 2x, =75
X1,X3 =0
4/

Max Z = x1 + x5
2x1 +1x, <8
1x; +3x, <9
X1,X2,%x3 =0

5/

Max Z = 2x; — 8x, + 10x5
6x1 + 3xy +3x3 < 12
4x; —4xy, —4x3 < 8

X1,%X2,X3 =0

6/

MinZ = 4x, + 18x, + 2x3
2x1 + 6x3 < 14
x1 + 17x5 + 15x3 = 25
6x, + 6x, + 21x3 = 30
X1,X2,%x3 =0
7]

MinZ = 6x1 + 2x, + 10x3
9x; + 6x3 = 6
X1 +x, +x3 =16
4x1 + 8X2 <12
X1,X2,%x3 =0
8/

Min Z = 6x1 + 20x,
5x1 + 6x, = 10
2x1 +7x, = 14
X1,X2,%x3 =0
9

Max Z = 10x; + 25x,
x1 < 200
x1 <150
x1 +x, =300
X1,X2,%x3 =0
10/

Max Z = 3x; — 2x5 + X3
—10x; + 30x3 = 10
3x1 +4x, +2x3 <6

10x; + 20x, — 10x3 < 20

X1, X2, X3




Ankhall das pll Jiliw o A "simplex" A& yh (S ) sl




